Year 5
Week 1 Activities



Day 1: Lesson 1 — compare and order numbers (answers in back of bookiet)

| | | | | | | | | | | |2) Order the amounts of rlnonelg in dsun&ing order.

— 1 ~ 3) Here are the theme park’s average ticket sales for
| B different months of the year.
- Monday | £43125 N Zangany 100 000
Tuesday | £42 047 April 450 000
B Wednesday | £43 113 - July 950 000
| Thursday | £42 568 B October 600 000
Friday £42 042 Draw a number line from O to 1 000 000.

Estimate where these numbers would sit on a

| Make these statements truc by B number line. Mark them and label the month.
uging the < or > symbol.

Monday's earnings Wednesday's earnings

— Thursday's earnings Tuesday's earnings

Friday's earnings Tuesday's earnings

Tuesday's Thursday's Friday's
— earnings earnings earnings




1) In August, a theme park sold
985 025 tickets

The digit in the ten thousands
column is eight ten thousands.

Ella

The digit in the ten thousands
column is 8.

Freya

Who do you agree with? Explain your thinking.

~ 2) Adam was making numbers using ten counters.

He needed to have a counter tn at least four
columns. He made the greatest number possible
and the smallest number possible. Are his
numbers correct? Explain your reasoning.

Greatest Number Possible

HTh | TTh Th T 0

H
:: :. o0 ]

Smallest Number Possible
HTh | TTh Th H T

o]




Lesson 2 — reading comprehension (answers in back of booklet)

Day 1
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Create your own magic potion here:




Day 1: Lesson 3 - grammar and punctuation (answers in back of booklet)

Proof Reading Activities

Activity One
First identify the type of mistake in the passage, then correct the 4 mistakes.

Russell groaned his mum shouted up the stairs; “Russell, get up now or you'll be
late - again!”

“Riiiight,” he called back wearily. “It's always the same,” he thought “Just when
you were warm, comfy and having a fabulous dre - what was that?” Russell's
train of thought was interrupted by a small figure running along the top of the
skirting boards. It was only there for a second, but he was sure he'd seen. Russell
shook his head in an effort to ‘reboot’ his vision. But no, there it was again, this
time climbing up the leg his desk. A small person, no more than six inches high,
scaling the telegraph pole upright.

Russell felt no fear, only curiosity. It occurred to him that maybe he was a)
dreaming or b) going slightly mad but he decided that having an imp or a pixie in
his room was far more interesting than getting dressed, whatever the reason for
its appearance. He approached slowly, much like when he was trying to catch his

ir

rabbit to put it to bed, “Mustn’t spook it,” he whispered himself.

“Oi, who are you calling it?" said a tiny voice.

The 5 types of mistake are:




Activity Two
First identify the type of mistake in the passage, then correct the 11 mistakes.

He wasn't exacly dressed like an elf, come to think of it. The boy (Russell was
farely sure this was a boy now) had thick, dark hair which he war long and free,
"Like a girl," Russell though. He wore an all-in-one suit made out of what seemed
to be a flexable, smooth tweed. Russell wondered if it was itchy. He had a utility
belt holding tinny tools; a hammer, pliers, a screwdriver and a quantity of wire
ties. All perfect, miniscule replicas of fermiliar items in Russell's dad’s tool box.
On his back was a rucksack with, Russell presumed, his climbing geer inside it.
On his feet were a pair of chocolate brown boots which looked like leather gloves,
but for feet. There was a seperate section for each toe. “Five toes through,” Russell
noted, “same as me.” The eyes that were now looking at Russell expectently were
deep brown, almost black and the elf's skin was shiny, soft looking and a deep
mahogany colour.

Now write it out correctly in your neatest handwriting:




Day 2: Lesson 1 - addition and SUbtraCtion (answers in back of booklet)

1) Complete these addition calculations. You 1) Ravi has been practising his column
method but he has made some mistakes.

For each sum, identify the mistakes and

may want to use place value counters to
help you.

a) explain his errors. Then carry out the sum
3.7 8|65 yourself to find the correct total.
B 1]3 )4 “} 32 5|61
+ 7 b 3 5
b) 3 9 1 ) ]
i) 0 5 &
+ 156 |71 k) alals|a

5 7 2 5|1
c)
3 4 3 23
c)
" 4 7 | 6 | 8 5 2 3 1
. 2 78|65
d) 53 264 + 9565 r1 0116
€) 6807 + 32 653 1

2) Amy is playing a maths game. She scores 1200 in
the first round, 4800 in the next and 11 000 in the
final round. Would you use column addition to find
her total score? Use the numbers in the question to
explain your answer.






Day 2 Lesson 2 — reading comprehension (answers in back of booket)
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Can you write a Robot character description
here for your own robot?




Day 2: Lesson 3 — grammar and punctuation (answers in back of bookiet)

1. Which verb is created when these suffixes are added to the noun? Write the correct verb for
each exumple_

class +  Hfy

advert +  -se

assassin + -ate

2. Circle the modal verbs in the sentence below.

‘We should leave,” he whispered. ‘“They could come back at any time.’

3. Underline the relative clause in the sentence below

6. Read the sentences below. Circle the word which links the sentences together to create cohesion.

It's important to follow a recipe when making a cake. , you need to make
sure you have the ingredients to hand.

Then After that Firstly This

7. Underline the parenthesis in the sentence below.

Every morning I catch the bus (which stops outside the library) to travel to school.



Day 3: Lesson 1 - addition and subtraction (answers in back of bookiet)

1) Complete these subtraction calculations. 1) Rana has been practising the column

You may want to use place value counters
to help you.

method but she has made some mistakes.
Can you identify all the mistakes and

a) explain what she has done wrong?

Complete the calculation yourself to show the correct

1!l 3|2 workings.
o)

b)

c)
3 & 0| 2 3 3 2 6 3 1
- g 7 1| 8
2) Isthis statement always, sometimes or never true?
Explain your thinking.
d) 52064 - 25934 ‘If you find the difference between two consecutive

numbers, the answer will be an even number.’
e) 86 B807-32 653







Lesson 2 — reading comprehension (answers in back of booklet)

Day 3

‘Aiym suosoas moh wpjdxg ;ppucoouy Jo 119
burugybry nuamod auow 51 quiyl noh op oy, H

& JoLiownn
jou, 51 DpuodDUYy 1043 yuryl noh op Ay, £

bunyb/ so
#WDs Y] UDaw Ynym sqian oml Adoo puo pury 7

s peypatn 150 saouayadns asam usypn |

SUo01IsSanY YoMmoP

‘(jp3sowmn jou 3ng)

plo sswafi paspuny-zuo saap -aby

uay3nf wiy 392304d 03 UOIA|AYSOX3
buoszs ‘aygsawr uo uamb u3jp] som
aH by Jo samod ay; pup (ssanss aup
fayy ssajum) spumom ume s1y ey o3 famigo

ay3 ‘y3buasys unwmyiadns Yy3ImM Uiog SDM DPUOIDUY

ppuoIBUY

‘Dpucopuy fig

psuDl}  JUDIDQWI0D  pUDY-03-puDy jus)Eox3 csys  Buryby
(spuim fq pajadoid uaym) ciuosqng -paads yybr4

‘01bow piam

03 Joi3uajod Y3 PUD JIDY wingnoD 3apy woym Jo Jo ‘ssaound
Toqu3 upouawy 3apu D Jo siazybnop ay3 Jo auo = g Bunuybn
1419 Bunuzybn

'343Y PagLIdsap 350y} SO Yans siamod (upnwnyiadns)
Jo1dads aADY s204aYJadNS SOELT 33D] Y3 U1 5314035 ¥0oq nwod fo
3od so pajoasn Ajowbuo aiam fayy swopa Bunizog puo awnio

Bunyory 03 pajooipep aup oym =43300upYy> Aspjunf aup sacuaysadng

$3oD4 oJ4ayladng

[4A
611
711
601
€01
56
L8
08

6L
LL

| ¥

%79
29
IS
6t

LE
0t
61

6



If you could be a superhero what would your
powers be? Write 3 sentence to describe each one.




Day 3: Lesson 3 — grammar and punctuation (answers in back of bookiet)

8. Do the adverbials in the table below show time, place or frequency? Tick one box for each.

Adverbial Time? Place? Frequency?

in Januury

behind the garage

near Cardiff

always

9. Read the sentences below. Write how many people went to the shop in the box after each
sentence.

[ went to the shop with my friend Simon and Terry. D

I went to the shop with my friend, Simon and Terry. D

10. Read the sentence below. Circle the word which indicates the degree of possibility within the

sentence,

Samira is definitely a faster runner than James.



Day 4: Lesson 1 - mUItlply by 10, 100 and 1000 (answers in back of booklet)

What number is shown on the place : % X :
value chart? 1) Javine says, “To multiply by 1000, I just

add three zeros.”

HTh | TTh | Th F T ) v I tintes bat 10, then timas b
o0 ° 0000 tan says, I times by 10, then times by
@ oe00 10 and times by 10 again.”
Complete the sentences: Do you agree with Javine and Kian's methods for
If I multiply this number by 10, it becomes multiplying by 10007? Explain your thinking.
The digits move place to the
If I multiply this number by 100, itbecomes _. 2) Can you work out the diameter of these new planets
The digits move places to the - using the clues below?
If I multiply this number by 1000, it becomes - Vesta is 10 times bigger than Athena.
The digits move places to the . Athena has half the diameter of Vulcan.

1) Match each planat to its moon to complate Juno is 10 times bigger than Athena.

the calculation. Make sure that you fill in the Ceras is 100 times bigger than Vulcan.

Vulcan is 20 530km in diameter.
Apollo is 100 times

missing boxes.

'
5
! bigger than Athena.
Planets Moonz i 4
B3 = 100 030 :1 a 3) Alun and Astrid, the
‘ astronauts, are exploring the
= 10 56 040 new planet, Vulcan. Alan

has travelled 763 steps. Astrid
612 = 8300 has travelled 10 times more steps
than Alan and then walked another 250 steps.
How many steps has she travelled?

5604 = 10 87 000

87 = 902 000

202 = 1000 61 200







- reading ComprehenSion (answers in back of booklet)

Lesson 2

Day 4
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Create your own unicorn story here:




Lesson 3 — grammar and punctuation (answers in back of bookiet)

Day 4
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Day 5: Lesson 1 - dIVIdlng by 10, 100, 1000 (answers in back of booklet)

1) Jason says,

1) What number is shown on the place

value chart? “To divide by 100, I can

divide by 10 and then
divide by 10 again.”

HTh | TTh | Th H T ]

Karla disagrees and says that you just
move the digits two places to the right.
Who do you agree with? Explain your thinking.

2) Using the clues below, can you work

Complete the sentences:
P out the ages of these new planets?

If I divide this number by 10, it becomes

Vesta is 10 times younger than Athena.

Thedigitsmove_______ place to the Athena (s half the age of Vulcan.

If I divide this number by 100, it becomes Juno (s 100 times younger than Athena.

Ceres (s 1000 times younger than Vulcan.

Vulcan is 608 000 years old.

The digits move places to the

If I divide this number by 1000, it becomes Apollo is 1000 times younger than Athena

The digits move places to the

2) a) How many decades are there in...
2340 years?

87 020 years?

b) How many centuries are there in...
98 000 years?

808 500 years?







ION (answers in back of booklet)

Lesson 2 — reading comprehens

Day 5
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ION (answers in back of booklet)

Lesson 3 — grammar and punctuati

Day 5
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Answers: day 1

1) Make these statements true by using the < or = symbol.
Monday's earnings > Wednesday's earnings
Thursday's earnings > Tuesday's earnings
Friday's earnings < Tuesday's earnings
Tuesday's earnings | € | Thursday's earnings | # | Friday's earnings
2)
£42 042 52 047 £42 568 <432 N2 £42 125
Llest test
Friday Tuesday Thursday Wednesday Monday
3o 500 000 1 000 000
I January April ‘ October July |

1) Freya is correct. The digit in the ten thousands column is 8. If the guestion
had asked for the value of the # digit, Ella would have been correct.

2) Adem Is incorrect. To make the greatest number possible, first put one counter
in each of the four highest value columns. Then put the remaining counters
in the highest value column. The greatest number possible would be 711 100,

3) Adam Is incorrect. To make the smallest number possible, first put one counter in each of the four lowest value
columns. Then put the remaining counters in the lowest value column. The smallest number possible would be 117,

Answers

Which ingredient must be added to the potion

first?

1.

Accept an explanation that the glitter and
colouring are not needed for the reaction
to occur (as explained in "The Science’

Accept ‘will or ‘should’.

Accept: Vinegar.

2. Find and copy a modal verb.
3. Why are food colouring and glitter ‘optional’?

section, so it is your choice whether you use
them to enhance the look of the "potion’.

Accept any explanation that this is an
experiment zo the instructions make it clear
to the reader what is necded first, followed
by the numbered steps to complete it.

4. How does the layout help the reader?

L3

]
[
[=]
£
=
o
1)
=
=]
L]
o
L=}
s
=
=
2
=
o
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—_—
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o
=
]
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L

inverted commas around the word ‘magic'?

Accept any answer that refers to the usc

of sarcasm or the facts that the author is
showing that the potion is not really magic.




Proof Reading Activities Answers

Activity One
Type of mistake: words missing.

Russell groaned as his mum shouted up the stairs; “Russell, get up now or you'll
be

late - again!”

“Riiiight.”" he called back wearily. “It's always the same,” he thought "just when
you were warm, comfy and having a fabulous dre - what was that?” Russell’s
train of thought was interrupted by a small figure running along the top of the
skirting boards. It was only there for a second, but he was sure he'd seen it. Russell
shook his head in an effort to ‘reboot’ his vision. But no, there it was again, this
time climbing up the leg of his desk. A small person, no more than six inches high,
scaling the telegraph pole upright.

Russell felt no fear, only curiosity. It occurred to him that maybe he was a)
dreaming or b) going slightly mad but he decided that having an imp or a pixie in
his room was far more interesting than getting dressed, whatever the reason for
its appearance. He approached slowly, much like when he was trying to catch his
rabbit to put it to bed, ""Mustn't spook it." He whispered to himself.

0L, who are you calling it?" said a tiny voice.

Activity Two
Type of mistake: spelling including homophones and commonly misspelled
words.

He wasn't exacly dressed like an elf, come to think of it. The boy (Russell was
fairly sure this was a boy now) had thick, dark hair which he wore long and free,
‘Like a girl." Russell thought. He wore an all-in-one suit made out of what seemed
to be a flexible, smooth tweed. Russell wondered if it was itchy. He had a utility
belt holding tiny tools; @ hammer, pliers, a screwdriver and a quantity of wire
ties. All perfect, miniscule replicas of familiar items in Russell's dad's tool box.
On his back was a rucksack with, Russell presumed, his climbing gear inside it.
On his feet were a pair of chocolate brown boots which looked like leather gloves,
but for feet. There was a separate section for each toe. “Five toes though,” Russell
noted, “same as me." The eyes that were now looking at Russell expectantly were
deep brown, almost black and the elf's skin was shiny, soft looking and a deep
mahogany colour.




Answers: day 2

1) a) #99
b N725

c) 3909
d) 62829
) 39 4éo
2) a) Abdul and Som
b) Lottie ond Fhon
1) 00 + 800 = [)oo, Row should have f=5
2| 2| 5|8/ 304 5 &1 regrouped 0 of the hundreds as |
* 7| 8|85 * 7|85 m@n::iwﬂuuum::gﬁﬁnmm '
@i e | & 4 o 1 9 & 2000 + Teoo + Jood = 1o s00, thus giving o
fimal total of Go 196,
(.
4| 5 7 I 4 5 ¥
Tl Lol ol St
I I
502 8|1 § 2 3 1 Ravi has started correctly but, when he got
to 700 + Joo + [0d, he bas written this in a5
+ 2|7 | #|5 + 27 ¥ 5 1000, He showld have recorded the regrouped
dight wnder the thousands column to add
’ ’ ¢ il Il I this on to 5060 + 2000,
I ol

2) Children should be encouraged to look ot the mumbers they ore calculating with and use the most efficient method. They
should understand that they should always leok ot the numbers first to decide whether you can add them mentally, In
this case, colwmn addition wowld not be the mast efficlent method. A mental method, with jottings if needed, would be
the most efficlent method. You could use your mumber bond knowledge te add 1200 to §808, giving o total of & 800, and
then add |l 800 to give o final tatal of 17 0oe,
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& [ Then After that ( Firstly ) This |

Every morning [ catch the bus (which sto

outside the library) to travel to school.
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coma back at any time."

3 We are going to go back to Devon this gear,




2)

a)
b)

High Fliers and Fantastic French

Sea Beast ond The Confurers (1 464,), Number One and Fantastic French (1838). Look for children who explain their
reasoning about number selection, e.q. taking the largest and smallest mumbers to find the greatest difference and
the two closest numbers for the smallest difference, rother than trying every combination of numbers to find the
cormect ansier.
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15308
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High Fliers and Fantastic French

Sea Beast and The Confiers (lo 464), Number One and Fantastic Franch (1838). Look for childven who explain their
reasoning about number selection, e.g. taking the largest and smallest mumbers to find the greatest difference and
the thao closest numbers for the smallest difference, rather than trying every combination of numbers to find the
cormect gnsier,

1}

2)

b)

Never. In o palr of consecutive numbers, ome number will be odd and the other even.
odd = even = add
aven

0

Rana has done § - | rather thon deing | - § and exchanging.
@ The corect ansier Is 30 928,

? il B Rara hos pot recorded the exchamge of toking | thowsand
-lsl2le!l585|3 from § thousonds to create 10 hundreds, which would leave
3 thousands,

The cormect answer /s 31 831,

= pdd = odd

Answers

LoOn.

Accept any reasonable explanation that links
to the text ~ Lightning Girl because che was
Anaconda because he can heal his own wounds
and has an invisible, strong exoskeleton

able to heal his own wounds, if they are
trained by Anaconda and can use magic /

severe he is unable to, which would mean

that he could dic in this =i
Girl or Anaconda? Explain your reasons why.

Accept an explanation that despite being

Accept: late 1930z
Accept ‘tackling’ and 'battling’

as 'fighting

2. Find and copy two verbs which mean the same
immortal'?

4. Who do you think is more powerful: Lightning

3. Why do you think that Anaconda is ‘not
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8 | Adverbiar Time? Place?  |Frequency?
in January x
behind the garage X
noor Cardiff X
shway X

9 possessive pronoun

relative pronoun

aln

10 Yamira isu faster runner than
James.



Answers: day 4

1) IfI multiply this number by 10, it becomes 3190,
The digits move one place to the left.
If I multiply this number by 100, it becomes 31 900,
The digits move 100 places to the left.
If I multiply this number by 1000, it becomes 319 000,
The digits move three places to the left.

2)
Planects 83 = 100 403 = 10 612 = 100 5604 = 10 87 x 1000 902 x 1000
Moons 4030 56 040 8300 87 000 902 000 61 200

1) Javine should have said that the digits move three places to the left. If you are multiplying a decimal number
by 1000, for example, 2.5 x 1000, adding three zeros results in 2.5000. If any columns on the right of the digits
have become empty, they will need a place holder.

Kian’s method is correct as 10 x 10 x 10 = 1000, It is the same as multiplying by 1000,
2) Juno — 102 650km, Athena — 10 26 Skm, Ceres — 2 053 000km, Vesta — 102 650km, Apollo — 1 026 $00km, Vulcan — 20 S30km

3) 763x10=7630
7630+ 250 =7880
She has travelled 7280 steps.

Answers
Accept any reasonable explanation that

couldn't believe what che was secing,
that che was chocked and imp

links to the text ~ yes because che had
been chosen so must be able to help / no
because the dragons were ferocious and
ready to artack and che was just a girl.

Accept: Zaina woke to find herzelf

floating towards a dazzling star on her
eeiling and being pulled through it.
Accept: dazzling, supernatural,
mystical, enchanting and dreamy.

the way Zaina is feeling?

Accept a responze that chows Zaina

the story?
you think this?

setting.
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2. Find and copy two adjectives which describe the
3. What does the word "astonishment’ tell us about
4. Will Zaina be able to help the unicorns? Why do
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Answers: day 5

1) IfIdivide this number by 10, it becomes 500
The digits move ere place to the right.
If I divide this number by 100, it becomes & 50.
The digits move tie places to the right.
If I divide this number by 1000, it becomes é5.
The digits move three places to the right.

2) a) 234 decades
#702 decades

b) 980 centuries
FOZS centuries

c) 95 millennia
102 millennia

3) 4500 = 100 = 45

6080 = 10 = 608
805 000 = 1000 = g05

1) Jason and Karla are both correct.
10 x 10 =100
Therefore, dividing by 10 twice is the same as what Karla is deseribing.

2) Ages of the planets In years:
Juno — 3040
Athena — 304 000
Ceres — 608
Vesta — 30 900
Apollo - 304
Vulean — 608 000

Answers
Accept an explanation focuzing on the fact that

she was trying to get away from somebody
('They wouldn't find her here') so her heart is

pounding due to physical exertion and

Accept very quict, almost impossible to hear.
being scared.

Accept: the floors above (her).
3. Why was her 'heart pounding'? Give two reasons.

1. Where did the voice come from?
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4. What do you predict Lucy will do next? Use the

text to support your answer.

Accept any reasonable explanation linking to

the text ~ che will go towards the noise because
she was brave enough to go into the house;

che will leave the houze because che wanted to

chech that the coast was clear, so if somebody
elze ic there she won't want to stay there.
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